GENERAL ABILITY TEST
CBRT FOR THE POST OF ADMINISTRATIVE OFFICER
11.08.2019 (FN)
1.
Which one of the following is the antonym of the word written in capital letters in the sentence:
‘The IMPROVISED presentation was not approved by the General Manager’?
(a) Concocted
(b) Contrived
(c) Designed
(d) Fabricated

2.
Which one of the following is the antonym of the word written in capital letters in the sentence:
‘As the ice RECEDED, glacial deposits and moraines were formed’?

(a) Waned

(b) Intensified

(c) Tapered

(d) Relented

3.
Which one of the following is the antonym of the word written in capital letters in the sentence:
‘With essential resources at a NADIR, the streams of the plateau attract a lot of wildlife’?

(a) Zero

(b) Inimical

(c) Temper

(d) Zenith

4.
Which one of the following is the antonym of the word written in capital letters in the sentence:
‘Human life is certainly ENIGMATIC’?

(a) Cryptic

(b) Mysterious

(c) Perspicuous

(d) Perplexing

5.
Which one of the following is the antonym of the word written in capital letters in the sentence:
‘Mary was known for her UNCOUTH behaviour’?

(a) Crass

(b) Loutish

(c) Tacky

(d) Refined

6.
Which one of the following is the synonym of the word written in capital letters in the sentence:
‘The UNKEMPT lawn caught his attention’?

(a) Maintained

(b) Tidy

(c) Slovenly

(d) Covetous



7.
Which one of the following is the synonym of the word written in capital letters in the sentence:
‘The Romani lead an ITINERANT life’?

(a) Sedentary

(b) Established

(c) Titular

(d) Nomadic

8.
Which one of the following is the synonym of the word written in capital letters in the sentence:
‘He said that he had a HANKERING for Sushi’?

(a) Abjuring

(b) Loathing

(c) Yearning

(d) Disliking

9.
Which one of the following is the synonym of the word written in capital letters in the sentence:
‘He is capable of the CULPABLE act’?

(a) Propitious

(b) Criminal

(c) Impeccable

(d) Expedient

10.
Which one of the following is the synonym of the word written in capital letters in the sentence:
‘TRUANCY was a characteristic feature of his behaviour’?

(a) Alertness

(b) Outlook

(c) Stance

(d) Absenteeism

11.
Which one of the following words may be used in the blank space in the sentence: ‘The building
fell down within minutes due to the earthquake but fortunately everybody "7

(a) was able to escape
(b) manage to escape
(¢) could escaped

(d) couldn’t escape

12.
Which one of the following word(s) may be used in the blank space in the sentence: ‘It took us
quite some time to reach Agra; it was journey’?

(a) long

(b) a five hour
(c) athree hours
(d) five hour



13.
Which one of the following words may be used in the blank space in the sentence: ‘The more car
you use, >?

(a) your expenditure will be higher

(b) higher your expenditure will be

(c) the higher your expenditure will be

(d) higher your expenditure

14.
Which one of the following words may be used in the blank space in the sentence: ‘When did they
the hotel’?
(a) arrive to
(b) arrive at
(c) arrive in
(d) getin

15.
Which one of the following word may be used in the blank space in the sentence: ‘The accident
took place because of his fault, so he had to pay for the damage my car’?

(a) for

(b) on

(c) of

(d) to

16.
Which part of the sentence “Ravi has been elected as one of the member of the Committee for the
inquiry” has an error?

(a) Ravi has been elected

(b) as one of the member

(c) of the committee

(d) for the inquiry

17.
Which part of the sentence “The Principal said that whoever has taken the test needed to report to
his office latest by that evening” has an error?

(a) The Principal said that

(b) whoever has taken the test

(c) needed to report to

(d) his office latest by that evening

18.
Which part of the sentence, “If I were you I will not ask for help as I need not require any support
from anyone” has an error?

(a) If I were you

(b) I will not ask for help

(c) as I need not require

(d) any support from anyone



19.
Which part of the sentence, “Had I learnt that you were the person in-charge, I would not send the
order with reference to the payment of bill” has an error?

(a) Had I learnt that

(b) you were the person in-charge,

(c) I would not send the order

(d) with reference to the payment of bill

20.
Which part of the sentence, “Most of the documents have been translated in the official languages
of the states of India” has an error?

(a) Most of the documents

(b) have been translated

(c) in the official languages

(d) of the states of India

21.
Which one of the following is NOT a Fifth Generation programming language used mainly in
Artificial Intelligence?

(a) Prolog

(b) COBOL

(c) Mercury

(d) OPS5

qradl 91 T U AT ST S &I $EA ST HA ggFS H Sl §, HeAtarad
H A dla @ s 787 &2

ORIGIC

(b) FI&TeT (COBOL)

(c) FEFLH
(d) OPS5

22.
Sum-of-Products (SOP) expression is represented as:
(a) (A+ B)C
b)(A+B)+(A+B)+C
(c) ABC + BC + AB
(d) (A+ B)(A+ B)C
IUTABAl T ATl (SOP) Hofdh Tohd g AT fhar Srem & 2
(a) (A+ B)C
b)(A+B)+(A+B)+C
(c) ABC + BC + AB
(d) (A+B)(A+B)C



23.
How many number of characters can be accommodated in 16-bit Unicode?
(a) 256
(b) 65536
(c) 256256
(d) 65000

16-f9e giaers & Hocliel i fhcell FEar FARNTST T ST Hevell 82
(a) 256
(b) 65536
(c) 256256
(d) 65000

24,
Which one of the following software is NOT suitable for publishing purpose?
(a) InDesign
(b) Microsoft Publisher
(c) Apple Pages
(d) Tally

TR o TSl & [{fld # @ Hlel & WFedW 39FFd 781 & ?
(a) 3T39I8eT (InDesign)
(b) FATSHIATFE IfeelR
(c) TTS Tatel
(d) el

25.
Which one of the following is a low-level programming language?
(a) FORTRAN
(b) Prolog
(c) Ada
(d) Machine Language

fTfaf@a & & Sl @), e T Tl e 7w § 2
(a) BIReTeT (FORTRAN)
ORIGIC
(c) TsT
(d) FrefeT $ATT

26.
The set of rules that governs the communication process between the sender and the receiver is
known as:

(a) Router

(b) Protocol

(c) Internet

(d) Modem



g 3R AR F dw FER ufnar @ Falera e gt Pae-aEesT @ oF
hed & 7

(a) WX

ORIFEIG

(c) FeeT

(d) ASH

27.
Which one of the following is NOT a web browser?
(a) Internet Explorer
(b) Mozilla Firefox
(c) Python
(d) Netscape Navigator

ffofaa & & i ar v, a9 F3oR 78T § 2
(a) 3c{eic TFITARY
(b) AT FIREITHIFT

(c) ATSUTT
(d) ATEHT AT

28.
Which one of the following is NOT included in TCP/IP model?
(a) Application layer
(b) Presentation layer
(c) Transport layer
(d) Network layer

Ffafaa & a #i9 a1 v, TCp/IP Asa & aFafaa 487 & 2
(a) 3TIANT R
(b) ST e
(c) IREET TR
(d) Acas R

29.
In the context of data transmission, the term ISP stands for:
(a) Information System Protocol
(b) Internet System Protocol
(¢) Internet Service Provider
(d) Information Service Provider



37ThsT TTRUT & HGH H, 9g ISP FT 7T § :
(a) SHIETA fATecH deknia
(b) 3cte RAeeH weia
(c) 3T FAH HraTg=R
(d) SPiHT TfaT Warsst

30.
Which one of the following is NOT a Vector Storage Format?
(a) CGM
(b) SVG
(c) SWF
(d) JPEG

frfaf@a & ala a1 v, afger HERUT G%T (GFeX TR hiHe) 78 ¢ 2
(a) CGM
(b) SVG
(c) SWF
(d) JPEG

31.

The refractive index of a substance for a light wave of frequency v (nu) is:
(a) measured in radian.
(b) the ratio of speed of light in vacuum to the speed of light in the substance.
(c) the ratio of sine of angle of refraction to the sine of angle of incidence.
(d) the ratio of angle of incidence to the angle of refraction.

3mgfed v (nu) T Feh1er o3 & AT fonedl gerel &1 3raaciie
() AT & AT ST §
(b) f¥aTeT o gehrer T =Tel & 9erd & Gehrer v =Tel &M I il &
(c) 3Tacial HIUT I SAT { ATl HIOT HT FAT HT AT &Il o

(d) MY HIOT A YT HIOT T HeTTT GIell &

32.
In a pressure cooker, cooking is fast because:
(a) the boiling point of water is raised by the increased pressure inside the cooker.
(b) the boiling point of water is lowered by pressure.
(¢) more steam is available to cook the food at 100 °C.
(d) more pressure is available to cook the food at 100 °C.

forell 9R FF A It M geveTT &, FAIfF
(a)sma?aﬁ?a‘igtfaﬁ*ww ST HT FIUATH g6 ST &
(b) ST % HRUT STl T FAYUAh T AT §
(c) ST Iahlel & T 100 °C W 3R 310 919 39arser g Srdr §
(d) HISTT Uil & ToIw 100 °C W 3R 310+ g9 39esY & ST &




33.
Which one of the following statements is NOT correct?
(a) Soap and detergents lower the surface tension of water
(b) If you take some ice and heat it gently, it contracts until its temperature reaches 4 °C. It then
starts to expand
(c) While drinking a cold drink through a straw, we use the phenomenon of capillarity
(d) Soaking of ink by blotting paper is based on the principle of capillarity

fafofaa & & «ia a1 Faa agr 78 & 2
(a) VT 3R 3UATSIS ST F Joo-colld hl FHH H 3 8
(b) TTE F& a6 F X 3H golh ¥ IRA AT ST, & Ig dAT Toh HpTad gial & ST
as &6 39T agAT 4°C o & S0 | 3Tk di¢ Ig theled o9y &
(c) 9T §H TSl & ATEIH A Fis Mfad 97 99 §, d9 &7 FRehca IREcar &1 v21eT
EXC IS
(d) TIEAT FIETST EaRT TATET HT AT ATAT hiAhcd & [AGId W ITaRa &

34.
Two simple pendulums having the same length / but different masses m/ and m2 are hanging from
the same ceiling. They execute oscillations with the same amplitude. Which one of the following is
NOT correct?

(a) They have the same time period

(b) They have the same frequency

(c) They have the same energy

(d) They have the same angular amplitude

& WYl dlcreh, TSeTeht qAT oars [ &, T @A (BeT) aeaas ml 3R m2 & o
B Bd Hoch @ 6! d A JA & 91T gl d & | HedAfai@d # & i ar
Th, WEl T § 2

(a) 3T 3TAd-Tel THTA ¢

(b) 3eThr 3Tgfcd TAT &

(¢) 3T Fall AT §

(d) 3Tk HIOMT TATH TATA &




35.
Earth exerts a gravitational force on the moon, keeping it in orbit. The reaction to this force, in the
sense of Newton’s third law is:

(a) the tides due to the moon.

(b) the centripetal force on the moon.

(c) the gravitational force exerted on earth by the moon.

(d) the nearly circular orbit of the moon.

gedl AT W Teh J&cd Sof STelchl &, [STE a8 T & §f1 Wl § | 7geat & A
e & 37T A, 39 9o & wfafkar F=r § 2

(a) TGHAT & HRUT SAR-HTCT

(b) IgAT W IAfART T

(c) AT EaRT G W ST I Idcd el

(d) TGHT T oIS afel aTl

36.
Which one of the following elements will have a property between metals and non-metals?
(a) Iron
(b) Boron
(c) Carbon
(d) Potassium

fefaf@a & & 68 vsh dea &1 o urg 3R 37U & § B gem 2
(a) g
(b) SRIeT
OKIEE
(d) greTe

37.

Which one of the following is NOT a Colloid?
(a) Milk
(b) Smoke
(c) Sponge

(d) Sea-water
ffaf@a # Fia ar v, Fiarss 787 & 2
(a) q¥
(b) g
(c) TS
(d) T



38.
Which one of the following substances is a compound?
(a) Brass
(b) Tincture of lodine
(c) Common Salt
(d) Amalgam

fafofaa & & o9 ar g Jifas § 2
(a) drcfer
(b) TR 38
(c) "HTYRUT A
(d) GIFAHOT (HHIITH)

39.
Who among the following scientists have first showed that the atom is divisible?
(a) Ernest Rutherford
(b) John Dalton
(¢c) JJ Thomson
(d) Neils Bohr

frfafEga & & g derfas 3 I8 gauys Ao fhar fé aww) faarsy ¢ 2
(a) 3TTFT IEIHIS
(b) SiisT STecsT
(c) S S ATHAA
(d) HAred IR

40.
Which one of the following is an example of a physical change?
(a) Germination
(b) Digestion
(¢) Sublimation
(d) Electrolysis

fefaf@a & @ i @, #ifdes aRade &1 s 3eEor § 2
(a) 30T
(b) HTEeT
(c) FEaurdel
(d) fagga-3roees



41.
Plants which grow on other plants but do NOT absorb food from them are called:

(a) Epiphytes.

(b) Saprophytes.
(c) Sporophytes.
(d) Bryophytes.

S UIeT gE} Uledl W 30 §, fhd 399 ER UIed F87 @A, T Fged § ?
(a) R I I
(b) FASAT
(c) ity 38
(d) STAHIST

42.
Which one of the following is NOT an example of modified stem?
(a) Rhizome
(b) Tuber
(c) Pneumatophore
(d) Bulb

@ & #ia @, FIART a7 T U 3eeI0r FaF 8 2
(a) Jhe;
(b) e
(c) -
(d) ek Fe,

43.
Ramsar sites are:
(a) desert areas.
(b) high altitude zones.
(c) deep sea areas.
(d) wetland areas.

AT TIT FAT g ?
(a) FS &aF
(b) 3T JITcT &1
(c) THR AR &7
(d) 3MSHfA &



44,
Which one of the following statements does NOT hold true for plant cells?
(a) Cell wall consists of cellulose
(b) Usually large vacuoles are present
(c) Generally shape of cells are variable and irregular
(d) Starch granules may be present in cytoplasm

ffaf@a & & ®ia a1 sy, geT FMAFABT & TR F T8 T8 § ?
(a) T TAfcd Tefellar T &= grer &
(b) A g, IWUTAT faeTAT Bl &
(c) AT HIfAFIAT FT AR gRadr iR A fAT giar g
(d) HIAFT geT A HAZ FHUT [AGIATT & Fohd g

45.
Which one of the following pairs is NOT correctly matched?
(a) Presence of true coelom : Nematodes
(b) Absence of coelom : Platyhelminthes
(c) Absence of notochord : Echinoderms
(d) Presence of gills in larva : Amphibians

fArfaf@a goat & @« a1 v, @d gafad J8 & 2
(a) AT FIIET T fAegATT gla - SeCar]

(b) J3TET T o GleAT : TEHA (vl
(c) YS&Too] I o Blell : LerIHT (VehTg=ilsH)
(d) 78T & FellA F1 AgIAA glar : 3HTI
46.
If CIRCLE is related to RICELC, SQUARE is related to:
(a) UQRESA
(b) UQSERA
(c) UQSAER
(d) None

Ife CIRCLE Tefdd § RICELC &, a7 SQUARE Tafad § :
(a) UQRESA &
(b) UQSERA &
(c) UQSAER &
(d) Y | =18t



47.
What is the value of x, if

(a) 216
(b) 224
(c) 248
(d) 256

x & AT 7§, Ife

(a) 216
(b) 224
(c) 248
(d) 256

x :ﬁ?

1024 x

48.
B said, ‘“A’s father is the only brother of my sister’s son.”” How is A’s father related to B?
(a) Cousin
(b) Nephew
(c) Aunt
(d) None

B o @gl, ‘A &I Tar A% 961 & T & THAH #1$ £, d A & a1 B & g gar
Tefad g2

(a) TERT / HRT / B / AT [(Folel) H1S AT g1

(b) HAST /| HATAST

(c) §31 / =y / g / Hidlr / A [31E]

(d) IS =TET

49.
Let ‘m’ and ‘n’ be two positive integers and that m+n+mn = 118. What is the value of m+n?
(a) Cannot be determined
(b) 18
(c) 20
(d) 22

AT oNfAT ‘m’ 3R ‘n’aﬁ'ﬂﬂ'wg\?ﬂ?%%ern-i—mn:lm g, dl m+n & AT FT
g ?

(a) FTeTRT 6T fhar ST Fhar

(b) 18

() 20
(d) 22



50.
Three cars A, B and C started from the same point at 8 am, 9 am and 10 am respectively and
travelled at the speed of 40 kmph, 60 kmph and x kmph in the same direction and met
simultaneously at another point during their journey. What is the value of x?

(a) 80 kmph

(b) 90 kmph

(c) 100 kmph

(d) 120 kmph

ofieT AR A, B3R CTh & TUT & Gog HAM 8§91, 9 71 3R 10 o1 =ell IR 3ogle
ST 40 kmph, 60 kmph 31X x kmph &7 aTel & U &) feom & Imr v qar e ar=r &

mmxmwwmﬁxt@%m X ST AT &7 § ?
(a) 80 kmph
(b) 90 kmph
(¢) 100 kmph
(d) 120 kmph

51.
What is the number of ways of distributing identity cards to four people so that none of them
receive their own card?

(a) 10

(b) 9

(c) 8

(d) 12

IR STl @l fhdel dllen & ggarel 99 fadRd [T o7 #hd & & 30 4 el &t

T 39T 39T YgATT 9T F A 2
(a) 10
(b) 9

(c) 8
(d) 12




52.
Consider the following:
1. A female rabbit gives birth to babies when she is 5 months old
2. A female rabbit gives birth to babies every two months
3. Maximum number of babies given birth at a time is two
What is the maximum number of descendants of a female rabbit of age 16 months?
(a) 22
(b) 32
(c) 60
(d) 100

farfaf@a w faar g .
1. HATET WML 5 Al T 3H gled 9 9Tl I oo Sal ¢
2. HIGT @M &Y &l ALl W gl &l ST A Sl &
3. Ush aR H UeT gl arel a<al HI Afehdd T&AT ar gl &

16 ARYA &I 3H T Teh HIGT TN & Jral HT HDhdH TE&IAT AT &7
(a) 22
(b) 32
(c) 60
(d) 100

53.
What is the difference of the areas of the circumcircle and incircle of an equilateral triangle of side
length 2 cm?

(a) 21 cm’

(b) % cm’
(c)m cm?

kY4 2
d) — cm
()2

2 cm oSl ST dTel U HASTE NS & IRGed AR e & &bl T 3R FAT § 2
(a) 21 cm’
(b)%cmz
(c)ncm2

kY4 2
d) — cm
()2



54.
What is the unit digit of the number 17'>?
(@9
(b) 7
(c) 1
(d)3

&7 17" FT SHIS 37 FAT § ?
() 9
(b) 7

(©) 1
d) 3

55.
Which one of the following is the largest positive integer of n such that 10" divides
100 x 99 x 98 x .....3 x 2 x1 ?

(a) 24

(b) 25

(c) 20

(d) 11

ffaf@a & & &9 &1, n & Agedd U7 Pl 36 IR § &6 10" Foford & §

100 x 99 x 98 x .....3 x 2 x1 &l ?
(a) 24
(b) 25
(c) 20
(d) 11

56.
The letters in the first set have certain relationship. On the basis of this, which one of the following
will come in the second set?
BF:GK::LP:?
(a) JK
(b) QU
(c) VW
(d) RQ

Tgel WHTIY & R A $o AT d@9y § | 3§ WUR W g@m T A,
el & & Far e 2
BF:GK::LP:?

(a) JK

(b) QU
(c) VW

(d) RQ




57.

Let (x,y) be a point on the circle: szry2 = 4. What is the maximum possible value of x-y?
(a) 4
(b) 1+ 3

(c) 2~/2
(d) 3

A NAT (x,y) Th fog 8 e x*+y’=4 W, @ x-y & HAgedd GHI AT FT § ?
(a) 4
(b) 1+ 43

(c) 2~/2
(d) 3

58.
Suppose x,y and z are natural numbers such that xyz = 24. Which one of the following values is
NOT possible for the sum x+y+z?

(a) 15

(b) 11

(c) 16

(d) 12

AT oAU x,y 3R 230 YR & e qUiieh § T xyz =24 § | Aol x+ytz & T
fTeef@a & & #ia a1 A= a@sa 7878 2

(a) 15

(b) 11

(c) 16

(d) 12

59.
I£ 5472 =18, 6342 =15 and 7584 = 24, then what is the value of 9236?
(a) 18
(b) 19
(c) 20
(d) 21

gfe 5472 =18, 6342 =153 7584 =24 § , @ 9236 & AT FIAT § ?
(a) 18
(b) 19
(c) 20
(d) 21



60.
X (male) and Y (female) got married 10 years ago. Their ages were in the ratio of 5:4. The age of X
is one-sixth more than Y’s age. After marriage, they had 6 children including triplets and twins.
The age (in integers) of the triplets, twins and the sixth child is in the ratio of 3:2:1. What is the
largest possible value of the present total age of the family?

(a) 107 years

(b) 101 years

(c) 83 years

(d) 79 years

X (98%) AR Y (#Afgem & 109 qa Taarg fohar. a7t 37 5:4 & 3eqarad & A1 X6 34
YaﬁrmﬁYaﬁrmwmf’mm%|ﬁaﬁ$aﬁ,méaﬁT§U%ﬁ
Th A EU Il 3R TH Y §U & oI (3N) MAST § | Th WY g A e,
wmugvaaa—nﬁaﬂ?a%aw&rm(qﬁmﬁ) 3:2:1 & 3qard A § | IRaR
T THATT FHol 3H HT HgedH TG AT FT § ?

(a) 107 Y

(b) 101 9§

(c) 83 a¥

(d) 79 a¥

61.
The term of Lok Sabha:
(a) cannot be extended under any circumstances.
(b) can be extended by six months at a time.
(c) can be extended by one year at a time during the proclamation of emergency.
(d) can be extended for two years at a time during the proclamation of emergency.

s AT Fr 3afeT .
(a) TRl & oRFEufa & seg agr s Fdr
(b) Tsh IR H B A & U FeI8 I Thell &
(c) I T 3CHINUT & HAY H Th aR H Tk d¥ & AU da15 T Fhell &
(d) 39T T 3CHNOT & HAY H Th aR H & a¥ & fov a8 o Fohdl ¢

62.
The members of which one of the following standing committees are chosen exclusively from the
Members of Lok Sabha?

(a) The Public Accounts Committee

(b) The Committee on Public Undertakings

(¢) The Estimates Committee

(d) The Committee on the Welfare of Scheduled Castes and Scheduled Tribes



fmfafea & @ 5 wurh 9fafa & deea, oo e @ & deedl A7 @ & g
S g 2

(a) e or@r FfAfa

(b) Sk (TTASTTeeh) 3Yshal AT

(c) UTeFheled TfATT

(d) TgRIT S vd 3eqgfd Siefsilia hedror HiAfd

63.
Freedom of speech under the Constitution of India is subject to reasonable restrictions on the
ground of protection of:

(a) sovereignty and integrity of the country.

(b) dignity of a citizen.

(c) dignity of Council of Ministers.

(d) dignity of Constitutional functionaries.

HRA & HIAUT & AT arep-Fare>d Thfeh TETUT & 3MUN W IiaFaged e &
el g 2

(a) &2 T T 3N @S

(b) TRET AR Fr aIRAT

(c) ATI-gRYE T IIRAT

(d) FifqETie SHeaehrRAT S TRAT

64.
Which one of the following statements correctly defines a mixed economy?
(a) There is importance of small scale industries along with heavy industries
(b) There is co-existence of public sector along with private sector
(c) Both agriculture and industry are equally promoted by the State
(d) Economy gives importance to both primary and secondary sectors

ffofaa & & oia a1 Fya, Fdr BT 3rdcgaear a1 @@y o1 & gk a&=ar
g7

(a) SEH T 3TN & FIY-AIY FY 3NN HT HAged Bl &

(b) SHH USde Jded & TTY-TTY TTdolielsr JFed FHl HE-31Tdcd gidr &

(c) T TaRT H¥ 3N 3TN Sl T FAGT T & HicdTTed T ST &

(d) r¥ega¥yr grafae AR gfadas aiar Al o Agca oar &

65.
Which one of the following is NOT a fundamental duty of every citizen of India under Article 5S1A
of the Constitution of India?

(a) To value and preserve the rich heritage of our composite culture

(b) To renounce practices derogatory to the dignity of women

(c) To promote international peace and human rights

(d) To develop scientific temper, humanism and the spirit of inquiry and reform



frfaf@a & @ @i @1 T, HRA & FAUE & 3ee SIA & It 3R & Tcdh
AR HT Hel Hcled 78 87

(a) BART FATAS TERIT T TFHG WR AT Hecd Sl AR 38 TAT @Al

(b) 3H PR T JAT3 FT W1 T S &3t & oA & [eg &

(c) AT enfa 3R ATT-IAFRY FI Fe@ar &

(d) 3ATAR el , AleTaare AR ST (TSATS) TUT GUR AT H1GAT HT I e

66.
Which one of the following statements about the office of the Deputy Prime Minister of India is
correct?

(a) It was created under the original Constitution of India

(b) It is not defined in the Constitution of India

(c) It was created by the 44™ Amendment to the Constitution of India

(d) It was created by the 85™ Amendment to the Constitution of India

RA & 39 TUHAHAT & UG & IR H HeAToli@d & I Pidd AT HUT el ¢ ?
(a) I8 HRA & Hol HAUWT & 3elieT giad fhar am@m o
(b) Ig AR & dfgeurs & aRenfa =@ §
(c) I§ HRA & QU & 44d G caRT Fiold foar arar ar
(d) I§ HRA & HQUT & 85d FAT caRT Fiold foar arar ar

67.
Which one of the following authorities conducts and supervises the election of rural and urban
local bodies?

(a) State Election Commission

(b) Election Commission of India

(c) District Collector and District Magistrate

(d) Concerned Returning Officer

Ffef@a & @ sild a1 v wfReRormRERr gy g gl T [t &
foraTaer 1 dareeT 3R TddeTor AT § 2

(a) Tog AaTaeT 3T

(b) 9RA faTaed 3mAET

(c) [oer Fererex 3R Fer AfGee

(d) gefaa e iRy

68.
Which one of the following writs is issued by the Supreme Court or a High Court to a lower court
forbidding the latter to continue proceeding there in excess of its jurisdiction?

(a) Mandamus

(b) Prohibition

(¢) Certiorari

(d) Quo Warranto



fArfaf@a & @ #ia @ & Re, IT9ard AT 3Yar Rl 3T ST gan
Rl el =aTe &, del e @ 9 HRIRAT & ATARFd HaRr ST
T S A #d gu ST & e & 2

(a) GTHTCE

(b) gfSEr

OES AU

(d) JfFR-geaT

69.
Who among the following was the Chairman of the Committee constituted on Panchayatiraj
Institutions in 19777

(a) Ashok Mehta

(b) Sardar Swaran Singh

(c) Balwant Rai Mehta

(d) Madhu Dandwate

fArfaf@a # @ &, 1977 A daIdr U U3t & Awy & afesq afAfa &1 regsr
aT?

(a) 3720 AT

(b) TRER F0T g

(c) Seldd T HET

(d) 7Y ggad

70.
The members of the Constituent Assembly were:
(a) directly elected by the people.
(b) elected by the legislatures of various provinces and nominated by the rulers of the Princely
States.
(c) nominated by the Governor-General.
(d) nominated by the Congress and the Muslim League.

GiaeTeT T & ALy
(a)maﬁmmﬁﬁa‘rﬁlﬁgca
(b) Affee oidl & fena-Asel garr fAaifad 3R ARAT Raradr & ardedl garT
ATATASTAT &
(c) TR STl GaRT ATATAGTAT &
(d) I 3R AErA M garr AARERIT &

71.
Report of which one of the following bodies is NOT placed before the Parliament?
(a) Comptroller and Auditor General of India
(b) Election Commission of India
(¢) Finance Commission
(d) Union Public Service Commission



fArafaf@a # & fha o s fr Ruie, gag & a#@er 787 W@ S § 2
(a) IR & g9 Uq Hgre@r WIeTsh
(b) IRA fAaTae 3T
(c) Ted 3marer
(d) TG ol TG AT

72.
With regard to the Finance Commission of India, which one of the following statements is correct?
(a) It ensures transparency in financial administration
(b) It encourages the inflow of foreign capital for infrastructure development
(c) It facilitates the proper distribution of finances among the public sector undertakings
(d) It recommends on the measures needed to augment the Consolidated Fund of a State

IRT & &cd 3T & ey #, Ffaf@a § 9 o9 a1 a7 @ & 2
(a) TE Tacch gamael & IR FiATad #ar §
(b) g TR T A & faw faee ol & 3icdig I Wearfed < §
(c) TE AASlfeleh eFeX & IUhA! & e e &1 FHRIA fIAOT oy &arerm &
(d) Tg el o f @afed A @ e & O smaeas 3url WA dar @

73.
Which one of the following statements with regard to the Constitution of India is NOT correct?
(a) It is more rigid than flexible
(b) It contains Fundamental Rights which are justiciable
(c) Its chapters on Fundamental Duties were inserted in 1976
(d) Judicial review is an important feature

HRA & AU & ey & AeaAfaf@d # & i a1 F97 T 787 ¢ ?
(a) g odem o777 § 399 31f¥& 30T ¢
(b) SHA HA RSN IHdfdSe § St FART (d1g Aed) §
(c) HeT Faedl & IR # S LA, 1976 H HleaAtase T v
(d) =aTRI% YeATdeitehel Teh Hgeaqol Jifeereion §

74.
Special provisions of Article 371 of the Constitution of India relate to which of the following
states?

(a) Jammu and Kashmir

(b) Manipur, Maharashtra and Nagaland

(c) Assam, Meghalaya and Tripura

(d) Karnataka, Delhi and Gujarat



R & FAUE & 3eqeoe 371 % faftse 3usy, FAefai@d & @ f&a T ar Ie3-
g ¥ Fefad § 2

(a) STFH Ud $HIAR

(b) AR, HERTSE 3R AWM

(c) 3r8H, AT 3 g

(d) Seireeh, feeel 3R ToRTT

75.
The word ‘Secular’ was inserted in the Preamble to the Constitution of India by which one of the
following Constitutional Amendment Acts?

(a) 2" Constitutional Amendment Act

(b) 44™ Constitutional Amendment Act

(©) 42™ Constitutional Amendment Act

(d) 86™ Constitutional Amendment Act

HRT & dauel Hr 3R_fAFr # 9 oRUer osg Arafai@d # @ Fl4 & dfay
qMYeT IFRAATH canr FiedAtase fhar aram ar 2

(a) GERT HiAUTeT HeNe fRIH

(b) 44at g T JRAHTH

(c) 42aT Giaend FeesT fafaas

(d) 86aT Tigera Ty AT

76.
The ‘Communal Award’ was introduced by which one of the following Acts?
(a) Government of India Act 1919
(b) Government of India Act 1935
(¢) Indian Councils Act 1892
(d) Indian Councils Act 1909

el AT (Fegerel 3as), Frfaf@a & @ 6y sfRfEgs carr wenfia
foram arm 2 2

(a) HRT =T AfAETH 1919
(b) IR T AT 1935
(c) 3T3TaT F3 AT Ve 1892

(d) 33T ST Ve 1909

77.
Which one of the following statements with regard to the Government of India Act, 1858 is
correct?

(a) Established an advisory council composed of Indians

(b) Powers of the Crown were to be exercised by the Secretary of State for India

(c) The administration of the country was federalized

(d) There was clear separation of powers between the executive and the legislature



TR emaeT s, 1858 & Fay &, HeaAfaf@d & & Sl a1 Faa @y g 2
(a) ARAAT F el Ueh HollghR aikvg, TA1id &
(b) 13T T ATFATT T TIANT HARA o Tshed 3HTh T GanT fhar S At
(c) &2 T YATHA HEeg fhdT a7 A7
(d) FH FrAUTeH AR AU #iser & &g AfFAT H1 TS JUFHIOT 3T AT

78.
In which one of the following years was the State Reorganization Commission constituted?
(a) 1956
(b) 1953
(c) 1952
(d) 1961

ﬁmﬁf@aﬁﬁﬁma&ﬁmwmmmwm?

(a) 1956
(b) 1953
(c) 1952
(d) 1961

79.
Which one of the following princely states held elections to transform itself into a Constitutional
Monarchy a few days before independence of India?

(a) Hyderabad

(b) Travancore

(c) Cooch Behar

(d) Manipur

farafaf@a & fra o Rawd & $Rd & Fadqddr & o & e g T@d A v
gifgenfas IedT A deold & fav HaTad aare 2

ORLAEIC

(b) FEUTHR

() FF TR

(d) AR




80.

Match List I with List II and select the correct answer using the code given below the Lists:
List | List IT

(Indian Political Party) (Leader)

A. Indian National Congress 1. A K Gopalan

B. Bharatiya Jana Sangh 2. Womesh C Bonnerjee

C. Swatantra Party 3. Shyama Prasad Mukherjee

D. Communist Party of India 4. C Rajagopalachari

Code:
A B C D
(a) 2 3 4 1
A B C D
(b) 2 4 3 1
A B C D
(c) 1 4 3 2
A B C D
(d) 1 3 4 2

g 1@ G 11 gATIT HIST 3R R & A QU A e w1 gheT Y Ee

Wﬂﬁ'ﬁr:

a1 I 11
(AR TSTAdd Gol) GGl
A ARAT TS HET 1. T & INdTeleT
B. AR T @9 2. SOIAST AT Sefoll
C. Tad 9ret 3. QITAT g3TE HEH

D. ¥R Frgfaee arct 4. @ TENITeTaRY

FT:
A B C D
(a) 2 3 4 1
A B C D
(b) 2 4 3 1
A B C D
@ 1 4 3 2
A B C D
@ 1 3 4 2



81.
The First Five Year Plan mainly addressed which of the following sector(s)?
(a) Heavy industries
(b) Defence industries
(c) Agriculture
(d) Employment and poverty alleviation

Tgell TIasid Aol o fAfafld # @ Aega: g el W ear= hfed famar 2
(a) 8T 3T
(b) T&TT 3T
(c) P
(d) TSR 3R IR 3o erel

82.
The idea of Five Year Plans in India was drawn from which one of the following?
(a) Experiences of erstwhile USSR
(b) Gandhian vision of society
(c) Bombay plan
(d) Bretton Woods Conference

RA H Jaadty Jeans3tt &1 foar Reafaf@a & @ ffg e & for a=r ar 2
(2) 99 USSR & 37es7d
(b) FHTST & gfa anefardy gfSearor
(c) eI TNTAT

(d) SeoT g5H FFAS

83.
Articles 36-51 of the Constitution of India contain provisions related to:
(a) Fundamental Rights and Duties
(b) Procedure for Amendment of the Constitution
(c) Directive Principles of State Policy
(d) Government of the States

R & FIAUET & HeJedel 36-51 H had Gl 3uaey garfase ¢ ?
(a) HeT 3ITRPR 3N Hcred
(b) TfAYUTT & FeMErT Shr gfshar
(c) T=T Fr Aifad & e dca
(d) T=AT HT THR




84.
Which one of the following is NOT a feature of the amending procedure of the Constitution of
India?
(a) An amendment may be initiated only through the introduction of a Bill in either House of
the Parliament
(b) Previous sanction of the President is required for introducing a Bill for amendment
(c) State legislatures cannot initiate a Bill for amendment
(d) Subject to the provisions of Article 368, Constitution amendment Bills are passed by the
Parliament in the same way as an ordinary Bill

fTaf@a & & *i9 @1, IR & afgurs fr gy gfshar &1 v 3iffasTor 787 § 2

(a) UG & QA Heall H ¥ el v A frdl AT 1 e gEnn & wg
MY vafdd fohar ST ThdT &

(b) TMErT o AT A IS AT et & fov Tseafd i qd #@lr snafera
J

(c) T & T To7 fAue-Fsa Fis 9T g o Tha

(d) 3TeDde 368 & Ul & e, Aioure Faee fA9gew e @rT 3 e
gikd fF S & o R & 18 aruror fagaes aiia frar arar &

85.
Which one of the following is NOT a qualification for election as Vice-President of India?
(a) Following nomination, he or she must not be a member of any political party
(b) He or she should have completed 45 years of age
(c) He or she should not hold any office of profit
(d) He or she should be qualified for election as a member of the Rajya Sabha

R & 3WSeufd & 9 7 Faa & fov, Fafof@a & 9 Fa1, v 3gar 787 g 2
(a) ATHTRT & d1¢, 30 FaT o Tefde gl T TSET Adl gloT AT
(b) 38t 45 a¥ &1 3G qU FT o g
(c) 3° fohdl MR I OX Tl gl dIgyq
(d) 38 TST THT & Th ST & & & fAaraa & v Ieg g anfge

86.
The ‘Chipko Movement’ was aimed at resisting:
(a) commercial logging.
(b) big dams.
(c) creation of reserve forests.
(d) caste discrimination.

“RIqepr 3Talelel FI 382 fohaerr Ifaiiy &Tr oar?
(a) ATOSTF &7 Fers
(b) §3 &rer
(c) THIARTAT (IRTEIT Teil) T FITIT STal
(d) ST fasie




87.
The Mazdoor Kisan Shakti Sangathan (MKSS) is well-known for starting which one of the
following movements?

(a) Anti-Sardar Sarovar Project

(b) Anti-Arrack movement

(c) Movement against Farmers’ suicide

(d) Movement for Right to Information

Aoley fohare ferd Hatesl (MKSS) faeifaf@a & @ fha 3nicleleT & IR ael & fav
gqoiag ¢ 2

(2) TSR TG IRIASTET & A%g 3fcrad

(b) 3 AT 3MTerereT

(c) forama 3rcAgaaT & favg 3icesT

(d) =1 & SR & fav et

88.
The India International Institute of Democracy & Election Management is located at:
(a) Kolkata
(b) New Delhi
(c) Hyderabad
(d) Mussoorie

R RIS aishdd 3R fAdTae yeued T ogl X fua & ?
OKIGEIG
(b) T8 el
(c) BeTeTg
(d) I

89.
Which one of the following is NOT a writ or special orders that can be issued by the Courts in
India?

(a) Prohibition

(b) Recall

(c) Certiorari

(d) Quo Warranto

frafafa & @ la a1 v, 9RT F el g@RT IR fRar ST Ahe arerm @ Re
a1 faQY 3 AT § 2

(a) gfaver

(b) FcITEATeT (YeT: FelleT)

(c) 3cIoT

(d) PR geaT




90.
Who among the following is regarded as the architect of planning in India?
(a) KN Raj
(b) Sukhamoy Chakravarty
(c) P C Mahalanobis
(d) Jawaharlal Nehru

HRA H ISt o aEJHR, eiaf@d & § 8 AT Sfar § 2
OERGEE]
(b) GEHT Tshall
(c) O I AT

(d) STATEelTel og®

91.
Which one of the following is the correct sequence of the levels of training evaluation suggested by
Kirkpatrick?

(a) Reaction, Learning, Behaviour and Results

(b) Learning, Behaviour, Reaction and Results

(c) Learning, Reaction, Results and Behaviour

(d) Reaction, Learning, Results and Behaviour

fonspticen SaRT G 14T TRIGTUT Hediched & Tl HT TE IeTohd, eAioida & @
il AT & 2

(a) gfaferar, @@er, saagr 3R aRoms

(b) BEG=T, egagR, gfafsar, ik gRome

(c) Tr@=T, gfafshar, aRUmH 3R cOdgR

(d) gfaferar, @, IRUTH 3R cTdgRr

92.
The policy involving payment of such compensation as will be conducive in attracting and holding
the quantity and quality of labour force required is known as:

(a) Policy of equity

(b) Policy of balance

(c) Policy of adequacy

(d) Policy of efficiency

ag oifd, oad & ufdes &1 eerarer enffier g, St 3mafeid s\ i & & AR
TITYCT &l TS Ao IR HH @A H FeIAh 8l, FIT Hgollel ¢ 7

(a) FTET HT AfT

(b) Tclerel 1 =Ty

(c) TATCAAT &7 Afer

(d) g&Far T =Aifa




93.

Which one of the following statements is NOT true according to the norms recommended by the
Indian Labour Conference, 1957 for fixation of the minimum wages?

(a) The standard working class family should be taken into account comprising three
consumption units for one wage earner, the earnings of women, children and adolescents
being disregarded

(b) Clothing requirements should be estimated on the basis of per capita consumption of 18
yards per annum with maximum 54 yards for each family

(c) In terms of housing, the rent corresponding to the minimum area provided for under
Government Industrial Housing Scheme should be considered

(d) Fuel, lighting and other miscellaneous items of expenditure should constitute 20% of the
total minimum wage

=GeTdH Holgll & e & fAv 9RAT S8 FFATH, 1957 @RI AT ATl &
AR, AT & @ T a1 FUT TEY A7 &2
(a) ASIGY T HT UAT A YRAR AT H @1 S A1V, o dd T #Hoigl
3T F g & AT, DT UM IS arell SHSAT &1, el T34, gz iR
fReMRY & 37otell dT agelel T IRAT &
(b) TET FI IMAIRATIT FI 3Thold Tiaday Ifd STFd 18 o7 & 3UHT & TR
R, o fF 93 qRaR & o 31fedd 54 191 g, IRT ST 91igv
(c) 3MEaE & HIY H, TN HgAFw o & & idda Ru v gaan
ST & 3TRT R W &AW e S anfgu
(d) 34T, Tootell AR <7 & 37 Ay A Hor ~gAdH HAIQY HT 20% gl TR

94.
Which one of the following statements explains the term “real wage”?
(a) The gross amount of money an employee receives as wages
(b) The net amount of money an employee receives after all deductions
(c) The purchasing power of the money wages
(d) The amount of money and the cost of all the benefits given to an employee

fArfai@d # @ &l & FUT “qdTds Haolgl!” e T SATEAT Fcl & ?
(a) S FAAN A F T H SN Feohel LA WIS HAT §
(b) AS FIARY N FIfFA & i S Aaor gy 9reg Har &
(c) Tehe HIGY &I T ATed
(d) TR FAr F & 715 A AR T faaret i amera



95.
According to the provisions of the Directive Principles of State Policy of the Constitution of India,
State shall endeavour to provide which one of the following wages?

(a) Minimum wage

(b) Fair wage

(c) Subsistence wage

(d) Living wage

R & WIAUT & T &1 AT & e deal & 3uatl & 3R, o et
# A i d AT Tao A & T HEm 2

(a) TATH HoIG

(b) 3T FHaigdr

ORGERGIENGIEtL: IR

(d) forate (farfdam) el

96.
The four different learning styles namely; activists, reflectors, theorists and pragmatists have been
developed by:

(a) Honey and Mumford

(b) Kolb

(c) Bandura

(d) Reynolds

IR RAffea 31fee Afo, areaa:, afradEad, Riades, Rgiaard ik caragRedaK,
fraesh eanT awfad & 718 § 2

(a) §oir 3R FAFHIS

(b) Sled

(c) 5T

(d) FTesd

97.
Which one of the following is a non-analytical scheme of job evaluation?
(a) Proprietary brands
(b) Job classification
(c) Point- factor evaluation
(d) Factor comparison

S Hedidhel I T 3fage &hiA, Hrafaf@a # @ @i @ g 2
(a) AT SIS
(b) IR FaffeRIoT
(c) Toig-3uTere (varge-there) FHodiehat
(d) 3UTET JeleAT




98.
An industrial or business establishment in which there is a union security clause in the collective
agreement to the effect that the employer agrees to hire either union members or non-union
members, but all non-union members must become union members within a specific period of time
or else lose their jobs is known as:

(a) Closed shop.

(b) Agency shop.

(c) Maintenance of membership shop.

(d) Union shop.

Hrg Hieglh a1 AR gidserd, SEd aeffes ™R A 58 IR & Th Ghorged
et @ ¢ & Aedr g gt it a1 IR-gfage FeEl @ #4183 W o & fow
eAd g, g @l g vl & v fafafése wwamaf & gfoas 1 wew
g ST 3Ta2H B AT d A U Il Ig9T, FAT Healldl g ?

(a) HY-UTEG AT

(b) fed-2resh fdsareT

(c) HETICT eIXE&TOT JiASSTeT

ORGRERICEIC

99.
Which one of the following statements relating to the Grievance Redressal Committee under the
provisions of the Industrial Disputes Act, 1947 is NOT correct?
(a) Grievance Redressal Committee is to be constituted in every establishment employing a
minimum of twenty workmen
(b) The maximum number of members of the committee shall be six
(¢) The committee may complete its proceedings within thirty days on receipt of a written
application by or on behalf of the aggrieved party
(d) The chairperson of the committee shall be selected from among the members representing
the employer

Jeifee e sfafea®, 1947 & 39ael & el g Harer af@fa & deg &
fafofaa & & o9 ar Fa a@gr 787 & 2
(a) Rpra Aarer af@fa &) 39 TUvar d 98 S § BEd w7 9 F9 99
FHDR HH I o
(b) 37 AfATd & TeEdl Fr fesaa d&ar a8 gl
(c) ST J&T & A1 3THI 3R & TAfAd 3Mdea el & O Gl & 33X IT§
afAfa 3roel srardr qot el
(d) 38 AATT 1 3reger AAFdr &1 yfdfAfca F gt Fe&dl & @ g1 Srwen




100.
Semantic problem in communication is related to which one of the following?
(a) Physical distance
(b) Problems in hearing
(c) Meaning and interpretation of words and sentences
(d) Mental set-up of receiver

Tovor & 3fe e, Safa@a 7 ¥ R gefg aidr & 2
(a) #ifds gt
(b) H@UT H FHEIY
(c) ersal 3R areFay 1 37y iR TR
(d) 9T T AR TufY

101.
A form of non-verbal communication involving touch is known as:
(a) Haptics
(b) Argot
(¢) Chronemics
(d) Infographics

3renfsegeh TAUVOT T Teh ®T TTH TA ATMAS 8T &, FIAT Hgolldl & ?
(a) cdh Fdg-dHhI (gTtead)
(b) %e sTelr (3me)
(c) ShIATHFT
(d) SR

102.
Who among the following has given the three tier institutional structure of industrial relations
activity?

(a) Dunlop

(b) Sidney and Beatrice Webb

(¢) Richardson

(d) Kochan, Katz and McKersie

e a@eer FRiwaT fI el arufas @, Aefaf@d # e &r g 2
(a) Selel™
(b) Raselr 3k fovfew aw
(c)ﬁﬂéﬂ?—f
(d) P, Sheat IR FAendr



103.
The belief that “conflict is necessary, but it can be and needs to be managed and resolved” is

associated with which one of the following perspectives of industrial relations?
(a) Unitary approach
(b) Radical approach
(c) Pluralist approach
(d) Trusteeship approach

Ig faeare & « Hu¥ 3raeys g, g 38 THTe 3R SHAT FATUE ATl S gl
¢ 3R g Thar o Hahar § 7 3 datl & [Aefei@d # & fd th aRve @
qeg ¢ ?

(a) UHIcHS SUTITH

(b) 3MHA TRATAGTET SUTTH

(c) FEATET 3UTTA

(d) =TT 3URTH

104.
Which one of the following perspectives reflects the employment relations pattern in India?

(a) Regulated protective

(b) Constrained competitive
(c) Deregulated competitive
(d) Protective competitive

Tef@a & @ o9 @1 & IRUey, 9IRa 7 ISR Feel & gfasT & gfafefed
AT § 2

(a) Tafaafaa el

(b) fAeg (Fleres) ufard

(c) HTAIAT (fFg=0T HeFa) wfaamh

(d) axafr gfaaref

105.

The All India Organisation of Industrial Employers was set up by:
(a) Federation of Indian Chamber of Commerce and Industry.
(b) Associated Chamber of Commerce.
(c) All India Manufacturers’ Organization.
(d) Employers’ Federation of India.

AW AR e Faiear @eres fhas eanrT Teanfa fRar arar ar 2
(a) BEXLT T 33T deaR 3TH HIAT U5 §3ET
(b) 3ARATEE R 3 HIAY
(c) 3Tl ST3AT Hegthare’d 3
(d) TFCATIY a3 sfE3ar



106.
Unions, whose ‘means of action include collective bargaining and political action’ come under
which one of the following functional unionism identified by Robert Hoxie?

(a) Business unionism

(b) Revolutionary unionism

(c) Predatory unionism

(a) Friendly unionism

d g, [Sed @ & Al 7 gefige digrl AR Aeiaen SRiseT i g
Jea¢ gl ganr IfAfuiRa Feafaf@a & & fFe & JeicAs dgdag & 3aed
3T 8

(a) STIUT UGG,

OEUGELUR;EEIC

(c) Eardarfad Hearg

(d) Fqot FEare

107.

A conciliation proceeding pending before a Conciliation Officer shall be deemed to have been
concluded on the date:
(a) the conciliation officer records that the conciliation proceedings have failed.
(b) the conciliation officer sends the failure report to the appropriate Government.
(c) the appropriate Government receives the failure report.
(d) the appropriate Government decides whether to refer the industrial disputes for adjudication
or not.

fpelt Fere AP & FALT AT IS Folg PR 38 ARG P FACT 5 A
Seelt, 39 arfg &
(a) GeIg HTPRT Tg IFATATYT T ¢ o a8 Golg HrIame! faha g 715 §
(b) TE Folg HRHRT TR THR &I [Aherar gfadest 7 &ar &
(c) FAMRT THR Taheral Fliddest Wred Hcl §
(d) FART PR Tg AfAEd wicdh & 6 30 Ade@ife faae #F =i &
forT faT ST ar A8




108.
Right to form unions provided under Fundamental Rights of the Constitution of India is covered
under:

(a) Right to equality.

(b) Right against exploitation.

(c) Right to freedom.

(d) Right to legal remedies.

AR & dfaureT & Ho 3RERT & el suefd (e fRar o) gfaas sae &
3R, fF JAWFR & 3l afFafea § 2

(a) FHAT &1 AFAHR

(b) eNYOT & Ta%g 3fUFR

(c) EI>T 3SR

(d) fafee 3Rt #1 FR/ER

109.
Which one of the following is NOT a method of resolving an industrial dispute under Industrial
Disputes Act, 1947?

(a) Conciliation

(b) Arbitration

(c) Adjudication

(d) Settlement

Aedf@s faarg sfeafaga 1947 & 3ele, RARf@a & @ &9 @ s, &
e faarg & gamereT & ugfd 787 & 2

(a) Gelg

(b) ATEIFYFH

(c) =TI

(d) IRfAROT (Feaee)

110.
Which one of the following refers to the Japanese ‘5S’ concept?
(a) Good Housekeeping practices
(b) Grievance handling
(c) Profit sharing
(d) Information sharing

fArafaf@a @ la a1 v, JUET 5S° Theus A Afese war § 2
(a) 3BT I[E TAEAT e
OREEIRGRGEEG]
(c) ST TEHTSTT
(d) FIIT HeHTSe




111.
Which one of the following is NOT a tripartite body?
(a) Indian Labour Conference
(b) National Apex Body
(c) Wage Boards
(d) Standing Labour Committee

Tafoaa # O Sl &, Bugha @ 787 8 2
(a) AR 47 FFAcl
(b) T MY e

(c) AT &S
(d) Tl s gfafa

112.
‘Man’s love for mankind’ is the basis of which one of the following theories of labour welfare?
(a) Trusteeship theory
(b) Public Relations theory
(c) Philanthropic theory
(d) Religious theory

HIST T HAG S & AT @GR 47 Fodor & Fefaf@a & @ g fgia @
YR § 2

(a) =g fagra

(b) SToT U A

(c) WIHRT B{gia

(d) enfie fagia

113.
Which one of the following principles of Labour Welfare should counteract the baneful effects of
the industrial system for the development of human personality?

(a) Principle of social responsibility

(b) Principle of efficiency

(c) Principle of totality of welfare

(d) Principle of re-personalization

HHA HAUT & fAa@d & 4 5 g & Aad Afadaa & G & for
e ew cTaEdT & AR ATl I [G0Y ST a1fgy 2

(a) ATHAITSS e1f&ca &1 RAga

(b) g&TaT T fAgia

(c) FeATOT Y FHIAT & g

(d) JoASTTFaeheIoT 1 i




114.
Which one of the following is NOT an aspect of core conventions of the Declaration on
Fundamental Principles made by ILO?

(a) Freedom of association and effective recognition of the right to collective bargaining

(b) Equal pay for equal work

(c) Effective abolition of child labour

(d) Elimination of discrimination in respect of employment and occupation

ILO GaRT 1T 9T Ho fAidl W 3T & HA Foaeel (TRUE) H TH Ta,
feafaf@a & o «la a1 a8 § 2

(a) HITH T 3R AHfeS HIGHRT & TN Sl FHTET AT

(b) AT T & T AT ddaT

(c) STeT S HT JHTE IoH oIl

(d) e 3R cIaa & 9y H AcHa &1 e

115.
The conflict handling approach when each of the parties in a conflict desires to fully satisty the
concern of all parties is known as:

(a) Accommodation

(b) Compromise

(c) Collaboration

(d) Avoidance

HEY YT &l 9§ 3URMA, Sigl HuY & g T JaThR {3l qaThRl & EIhR 1 qof
T q HJSC Al HT 3TOT [T g, FAT FHgelldl § ?
(a) THSA (3THFAISA)

(b) THESAT
(c) GEIANT (PrelaRersT)
(d) IRER

116.
The tendency for individuals to expend less effort when working collectively than when working
individually is known as:

(a) Groupthink

(b) Groupshift

(c) Sabotaging

(d) Social loafing

AfFAM: (3Tehed) FIH A AT Tl H FHRE T @ FH A TAT HH Gl o9
I egfdd H ggficd AT AT Fgd 8 ?

(a) FHE-faaRoT (afh)

(b) Fog-aRgfea (Farwe)

(c) HTETHA (Heerfiam)

(d) TATTST TAAROT (T2l AIThan)




117.
Which one of the following is NOT a part of the selection process?
(a) Reference check
(b) Advertisement
(c) Application screening
(d) Interview

fPrfaf@d & @ i &1, T¥T IiHar &1 vh BEar @ ?
(a) TSI ST
(b) Ta=maeT
(c) HTdGsT BIAdleT (Thifetar)
(d) TTETMcPR

118.
What is the respective minimum and maximum number of workmen to be recognized as protected
workmen under Section 33(4) of Industrial Disputes Act, 19477

(a) 10 and 50

(b) 10 and 100

(c) 5and 150

(d) 5 and 100

e faare sffeaa®, 1947 T 4RT 334) & 3T WAT FAFRT & & H AT
forr S & U FHSRT 1 FAM: FFeTan 3R 3fRwaH d&dr Fa1 g 2

(a) 10 3 50

(b) 10 3iR 100

(c) 53R 150

(d) 5 3iR 100

119.
No workman employed in any industry who has been in continuous service for not less than one
year under an employer shall be retrenched by the employer under Section 25 F of Industrial
Disputes Act, 1947, until:
(a) notice in the prescribed manner is served on the appropriate Government.
(b) the workman is given three months notice in writing indicating the reason for retrenchment.
(c) prior permission of the appropriate Government is obtained on an application made in this
behalf.
(d) a copy of the application made to the appropriate Government seeking permission for
retrenchment is also served simultaneously on the workman concerned.



frell 3T 7 AAfSa Ry daAwR $r, St Rt Adierar & 3t A & &A TF a¥
SIaR Qa1 # W@ 81, fAdear g, e faarg sfafaas 1947 & arr 25 F, &
3efieT, A9 dh Sl oAl ol AT I deh foh .
(a) FART WHR 1 fAfga Afq & Afew &1 fe=r &
(b) 3H HHBR P Bl F FROT I §U AT # et a1 1 Afewd =1 feam ram
8
(c) 38 T H fhU 7T e W FHRT ThR H g AT o of o 718 g
(d) Bealt & o AT T U FART WHR A fhU AT e HTH
yfafaf, Tt Faier @ off arr & ary 7 ¢ & =Y @

120.
Employee-oriented and production-oriented as the two dimensions of leadership behaviour are
associated with which one of the following?

(a) University of Michigan Studies

(b) Managerial Grid

(¢) Fiedler Model

(d) Ohio State Studies

Adcd FAER 1 & ABT & ® A FHAUN HRAG (Y9ca) AR Scued iFHg
foae , afefaa & & fhg v & TefRa g 2

(a) ZTAaTHEr 3w fARIET T

ORELEIECICEIDE)

(c) BISeR AT

(d) NgA e TS




